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Note :- Answers may be written either in English or in Hindi; but
the same medium should be used throughout the puper.
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Attempt all questiorts.
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t. Answer all Parts :

(a) Which average is based on all the observations ?

(b) If mean is 64 andvariance is 49' calculate the value of

Coefficient of variation (C'V')'

(c) Find the geometric mean of 4 and 9'

(d) lf correlation coefficient between X and Y is -0'70 and

one of the regression coefficient b*" is -1' find the

other regression coefficient' (2x4)

{ft qFt qT sfft ftrRe} 
'

(o) fr {r *{d sfi }Hor qi 3{rurRf, I ?

(€) qR urta (Mean) * oa 3fu fr'-{f,{ I as ' f,rd frR tr--{f,{

frqn6 (cv) t

(.r) wlfrR"+ qnq Fld

(q) qRx*tv*
wilTq;t {qr b*,

mRR 4 git{ e qT I

2. (a) A study of B'Com(H) examination results of 1000

students in the year 2010 gave the mean grade as 78

and standard deviation as 8' A similar study in the year

2016revealedthemeangradeas80andstandard
deviation as 1'6' What can we say about the

performance of students' over the time period with

respect to their average score and its variation ?
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(b)

3

A gynecologist records
patients and collects the

the blood pressures of her
following data:

calculate the two
the BP if the age

(6,8)

Age (in years):

Lower limit of Bp:

Assuming age as X and Bp as y,
regression equations. Also estimate
of a patient is 3g years.

23 24 2s 26 28 29 31 35 40

65 60 62 70 70 73 7s 83 90

OR

(c) The mean marks in Statistics of 100 students in a classwas 72. The mean marks in statistics of 70 boys was75. Find out the mean marks in statistics of girls in the
c lass.

(6,8)
(o.) 9+ 8.6orn.(D + rooo ffid + cftTr cfonq q{ zoro

sl qrtq (Mean) *fi{r: 7s o*t cmfi R_dd_{ a * r gm.(qr+
sra-q-{ q{ zoro { mur (Mean) *ot{r: s0 o}i qne. fr_qd_{
7.6 * | eq 1ffi + frq,ET + ftq irrr 16_6 uot d vqq
lrsD q{ Btt{-d irfi Jth B_fi+ fr-qoq q.r r

P.T.O.

(d) Calculate the modal size in the following distribution :

Size (in inches)
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(rq) so dt{r
FqRfrdd

4

(Gynecologist) at* qffi- qr kF qqn

23 24 25 26 28 29 31 35 40

65 60 62 70 70 73 75 83 90

friq-a

rilbt e

ua (efr t) :

BP +1 frq frqr :

qa qrqt gv fu iq x olr ep y d r an:a dfuq i rrqrlrcr

vfi-s{ur r qR qftq q1 eq se sS * * ep tnr tsFt-qr;r dtr
+tr

BI9T'TT

(.t) vm'6'erT t roo ffi + Riffi + ii61-Fr qftq (Mean)

iirn 72 qr I rrrrrT (Mean) iitn 70 q.d qr qiM t qr

7s | rttq (trlean) se. {rfurff i dsF qt* 6'T 6err i ara

dfrq r

(q) fiqfrtr{d fril{ur i{rr6n Hkr mfrT}

(a) The arithmetic mean of two observations is 100 and

their geometric mean is 60. Find their harmonic mean

and values of both the observations.

+ {isd

aJ.

eiron ste I l0t fr+ l0-12 I2-14 l4-16 l6-18 l 8-20

CITT
1
J l5 27 20 J I
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(b) For the data given below, find the missing frequency if
the arithmetic mean is Rs. 330. Also, find median of
the series.

OR

(c) State the situations when median and mode are preferred
to arithmetic mean. Also state their relationship for
moderately skewed distribution.

(d) Prove that Fisher's ideal index satisfies both time
reversal and factor reversal tests. (6,g)

(o.) d iaw (ouservations) sl rrFFfrq wta (Mean) roo * Btk

Tr-fr wrfrRq qTta (Geometric Mean) * oo r ErrFr.F.rilrrr

(Harrnonic Mean) ffiri iTqT fi ie.ot + q-er ffi r

(€) frn frA rr+ i{ffi t, qn drrga F.dR B{rgfr 6'r qR rrFrfrq

nw 1O 
',nmatic Mean) < sso * r gc*or * qnq (Uedian)

sr rfr qrr ern$+ r

P.T.O.

Loss per shop (Rs.) 0-10 l0-20 20-30 30-40 40-50 50-60

Frequency 100 150 300 ) 250 200

(6,8)

ufr gor+ 5*-em (<) 0-10 t0-20 20-30 30-40 40-50 50-60

3THfro 100 150 300 ,,
2s0 200
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STsl-ctt

(.T) yc RTM d q-drq+ dq riltzrrr (tvteotan) iii +s (voae)

rrFrfrq rnuT e+ ilErqrt frqr qrm * r vqr fr'E{ tr-fiq +
frq 3-{sr rr,tFLr * mr} r

(q) ftrn q.r cTtEaf {s-*.r+. p6 dfrv fr ffi (rriT J€rtt (time

Reversal) gfu qrc+. s€lr{ ctenqr t,_tq B r

4. (a) A cyclist pedals from his house to his college at a speed

of 20 km. per hour and back from the college to hrs

house at 30 km per hour. Find the average speed.

(b) Following are given figures of profit (in lakhs of Rupees)

of a sugar factory :

Year 2010 20r1 2012 2013 2014 20r5 20t6

Profit 60 70 75 65 80 85 100

Fit a straight line trend by the method of least squares

and find out :

(i) Trend values,

(ii) What is the annual increase or decrease in the

expected profits of the firm ? and

(iii) Estimate the likely profit for the year 2018.

(6,8)

6
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(c)

(d)

7

OR

Which averages can be used in open ended series and

why ?

Calculate the cost of living index number from the

following data and also find how much wages be

increased to compensate the rise in index if the workers

were getting Rupees 3500 per month in the base year'

Items Price in Rupees Weight

2014 2016

Food 300 450 5

Fuel 80 120 2

Clothing 140 2r0 a
J

House rent 200 225 J

Miscellaneous 2s0 300 2

(6,8)

(e^) \'o {r{-6TT qar} qrar srq+ q{ t m.r}'s 20 km cR s-cr

fr rrR r{ ftt-ift * ifu errs 6rts t qt so km vfr q-a t

3+trd rrR qorsa r

(te) s+65@*arq (<erc++) +frqi'
sS 2010 2011 2012 2013 2014 2015 20r6

illr{ 60 70 75 65 80 85 100

P.T.O.
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q'rcq q{i cwfr t vo frtft ttsr fr-d dfrq *t ara dfrs:

(i) c-ER Ts

(ii) n-{ + srB-d arri t wr srfr Ek qr fr{-{d t ? 3fu

(iii) zote * frq iil.{ a3trfrt t

STer.It

(.r) +-{ t .1*q e+rr t- dr} qr v+-t * g#f,i 're-dr n Bii

d?

(q) ffifr( 3fs-ef* t frei€ qq Kq-+r*. qqEA *t qm d{rnt

h q-d6m + BTFEk m effi'$ + frq ffi cu$ {difr
qrt qR qR*. ontm eS i s,soo cRflE it d r

(40,000)

rt€ *{d<+ $IR

2014 2016

qu=T 300 450 )

€uq 80 120 2

f,s 140 2r0 a
J

rre fqrqr 200 225 J

3TdT 250 300 2


